User

1,1 on — o,n o,n
Message id : char(5) Skin
Send username : varchar(20) Own
id : char(5) password : varchar(50) id : char(5)
message : text nationality : varchar(20) 11 o, name : varchar(50)
01 on sex : char(1) Is current image : varchar(200)
0.1 ’ : dateOfBirth : Date
currentBobCoins : numeric
totalBobCoins : numeric
Have nbMatchesPlayed: numeric
1,n
0,n
o.n Use
Play
Conversation
1,n
id : char(5) 1,n
name : varchar(20
(20) Match
id : char(5)
inGame : bool
1,1
Concern
0o,n
Game
id : char(5)

name : varchar(50)
image : varchar(200)




Message

id : char(5)
message : text
#idSender : char(5)

User

Have

#idConversation : char(5)

#idMessage: char(5)

Conversation

id : char(5)
username : varchar(20)
password : varchar(50)
nationality : varchar(20)

sex : char(1)
dateOfBirth : Date
currentBobCoins : numeric
totalBobCoins : numeric
nbMatchesPlayed: numeric
#currentSkin : char(5)

Own

[

#idSkin : char(5)
#idUser : char(5)

Skin

id : char(5)

name : varchar(20)

Use

#idUser : char(5)

#idConversation : char(5)

Play

#idUser : char(5)
#idMatch : char(5)

id : char(5)
name : varchar(50)
image : varchar(200)

Match

id : char(5)

inGame : boolean
#idGame : char(b)

Game

id : char(5)
name : varchar(50)
image : vargar(200)
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